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1. The inferior angle of the scapula mostly palpate at which level of spine?
A. T5
B. T6
C. T7
D. T8
Answer: C

2. Which of the following is primary ion for muscle contraction?
A. Glycogen
B. Phosphocreatine
C. Creatine
D. Calcium
Answer: D

3. Which of the following is a matabolic problem characterized by increase in plasma suger level?
A. Diabetes
B. Asthma
C. Obstruction
D. Coma
Answer: A

4. Weakness of dorsiflexor causes, which deviation in gait?
A. Problem in foot clear
B. Problem in stance phase
C. Problem in Mid swing
D. Problem in terminal swing
Answer: A

5. Stereognosis is the identification of which of the following with close eyes
A. Weight
B. Object
C. Texture
D. Dexterity
Answer: B
6. Stroke is the lesion of 
A. Upper motor neuron lesion
B. Lower motor neuron lesion
C. Cord lesion
D. Nerve injury
Answer: A

7. Treatment by manual therapy is based more on the _______than on the medical diagnosis.
A. Medical diagnosis
B. Physical diagnosis
C. ROM Exercise
D. Electrotherapy
Answer: B

8. The cervical vertebrae are identified by;
A. foramina transversaria
B. Bifid spinous process 
C. Absence of transverse process
D. Both a & b
Answer: D

9. Which of the following effect the blood pressure?
A. Growth Hormone
B. Thyroid Hormone
C. ADH
D. Cortisol Hormone
Answer C

10. 1st sacral vertebrae does not unite with sacrum, Becomes a 6th lumbar vertebrae
A. Sacralization
B. Lumbarization
C. True pelvis
D. False pelvis
Answer: B




Note: This is the sample paper. All courses of DPT are included in entry test with main emphasis on Neurology and Musculoskeletal system. 
Test will be based on 100 MCQs
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